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Q1. Consider the following statements regarding the India-US bilateral trade and relations:

1. The US is the second largest contributor to India’s remittance income after Saudi Arabia.

2. India has had a trade surplus with the United States in the last few years.

3. India is part of the US's Generalized System of Preferences (GSP) scheme.

Choose the CORRECT answer using the codes given below

a) 1 only

b) 2 only

c) 1 and 2 only

d) 1, 2 and 3 only

+ Show

Answer

Q2. Consider the following statements with respect to Joshimath:

1. Joshimath is the part of Garhwal Himalayas which lies in the state of Himachal Pradesh.

2. It falls in the Zone IV of the Seismic Zonation Map.

3. It is bounded by the rivers Karmanasa and Dhaknala streams on the west and the east and the

Dhauliganga and Alaknanda rivers on the south and the north.

4. Joshimath lies on the Vaikrita Thrust (VT), a tectonic fault line.

Which of the statement/s given above is/are correct?

(a) 1 and 2 only

(b) 2 and 3 only

09/05/2025, 12:09 Document

https://www.dhyeyaias.com/current-affairs/daily-mcqs/11-january-2023 1/2



(c) 3 and 4 only

(d) 1 and 4 only

+ Show

Answer

Q3. Consider the following objective of SFURTI scheme:

1. To provide sustained employment for traditional industry artisans and rural entrepreneurs;

2. To enhance marketability of products of such clusters by providing support for new products, design

intervention and improved packaging and also the improvement of marketing Infrastructure.

3. To equip traditional artisans of the associated clusters with the improved skills and capabilities through

training and exposure visits.
Which of the statement/s given above is/are correct?

a) 1 and 3 only

b) 2 and 3 only

c) 1 and 2 only

d) 1, 2 and 3

+ Show

Answer

Q4. Regarding ‘Atal Pension Yojana’, which of the following statements is/are correct? (2016)

1. It is a minimum guaranteed pension scheme mainly targeted at unorganized sector workers.

2. Only one member of a family can join the scheme.

3. Same amount of pension is guaranteed for the spouse for life after the subscriber’s death.

Select the correct answer using the code given below:

a) 1 only

b) 2 and 3 only

c) 1 and 3 only

d) 1, 2 and 3

+ Show

Answer

Q5. The Kigali agreement is significant step that it proposes to amend which of the following

protocol-
A. Kyoto Protocol

B. Montreal Protocol

C. Cartagena Protocol

D. Nagoya Protocol

+ Show

Answer
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